Vel. disp. [km/sec]

VObs - VTh

NGC 6356 5
D,,.=15100 pc
-4
Red. x* (vel. only)=0.68 3)
g -6
M,=(3.79+1.29)-105 M,
-8
M/L=1.54+0.55 o0z
Ry=5.91 pc, R=1.12 pc & O‘é
m(—
MF' Slope=-0.80 ‘go -0.1
- =0.2
10 L I IIIIIII I I IIIIIII I LI ? 10
= 1 &
8 & - ~ 8
5 i1 B
6 -1 =~ 6
4 4 o 4
2 - PM 4 T 2
9 E R 20
0.5 F 4 .& 05
= =
OF-------------- — 1, 0
0.5 F 4> -05
—1 E_I 1 IIIIIII 1 1 IIIIIII 1 1 IIIIF:' —1
10 100 103

Radius [arcsec]

Radius [pc]

0.1 | 10
|_ 1 ||||||I LI ||||||I LI ||||||I LI |||||_
-I 1 ||||||I_
E| 1 ||||||IE
§| ||||||I | | ||||||I | | ||||||I | | ||||||§
1 10 100 103
Radius [arcsec]
: I I ||||||| I I ||||||| I I ||||||:
: 1 1 ||||||I 1 1 ||||||I 1 1 ||||||:
:_ 1 LI |||||| 1 LI |||||| 1 L] |||:_.
E_ 1 | | IIIIII 1 L1 11111 1 11 IIIF:-
10 100 103

Radius [arcsec]



